4 3 2 ]

1.0 GENERAL NOTES REVISIONS
11 ALL METRIC DIMENSIONS ARE IN BRACKETS [X. X] REV. DESCRIPTION DATE APPROVED
12 FOR PATENT INFO: hitps-//www.cs-pat.com 11183 1015
2.0 DESIGN NOTES A INITIAL RELEASE
21 ANY HAZARDS OR OBSTRUCTIONS TO THE CLIMBING FACILITY AND SAFETY CLIMB MUST BE 15AUG23 | 40177423CMO

IDENTIFIED PRIOR TO INSTALLING THE APPURTENANCE. ADDITIONAL PRODUCTS MAY BE
REQUIRED TO MAINTAIN THE INTEGRITY OF THE SAFETY CLIMB. DURING INSTALLATION,
TEMPORARY AND/OR PERMANENT PRECAUTIONARY MEASURES SHOULD BE TAKEN TO
PRESERVE THE CLIMBING FACILITY AND/OR SAFETY CLIMB.
3.0 MANUFACTURING/SPECIAL REQUIREMENTS D
3.1 TIGHTEN ALL BOLTS SECURING FLAT PLATES BY THE TURN-OF-NUT METHOD. TIGHTEN ALL
U-BOLTS USING TURN-OF-NUT METHOD WITH ATTENTION TO LEAVE EQUAL DISTANCE AND
EQUAL FORCE ON EACH LEG OF THE U-BOLT.
4.0 TEST
5.0P

ACKAGING

5.1 PACKAGING SHALL MEET COMMSCOPE REQUIREMENTS PER DOCUMENT IS-PL-3005

5.2 PRINTED DOCUMENT TO BE PLACED INSIDE POLYBAG AND THEN IN SHIPPING CONTAINER
5.3 EXTRA HARDWARE MAYBE SUPPLIED, BAGGED AND SHIPPED

MTC4161-1000-00

C
MT-F1586 & 0 m
RT-CT-1210-08-HK m
0
' 0
= — /
0 STRAP FOR REFERENCE
’ B
| . e
of 00
00
COMMSCOPE, INC. OF NORTH CAROLINA
TOLERANCES SAP MATERIAL MASTER
1PLACE X[X]= 0.12[3.0] 3 PLACE XXX[.X]+ 0.010[0.3]
2 PLACE XX[X]+ 0.06[1.5] ANGLES =  2° RT-CT-1210-08
FINISH MATERIAL
3 NAME DATE | TITLE
sgE (G| PRS2 | DEEP WALL MOUNT COVERED CABLE KITS |
52> |Rw/|JL1183 08/30/2023
DENSITY Ibs/in® g % g W
MASS |53.05 lbs ggg AD
VOLUME |186.58 n | 23% g SCALE | DOCUMENT NO,
SURFACE AREA (595673 " | 352 [Ecy 40177423CMO 1:5 RT-CT-1210-08
HEIGHT |9.2[233.4] SIZE  |AuthGroup  INSL MODEL DRAWING SHEET
LENGTH | 96.0[2438.4] VERSION | STATUS | REVISION | VERSION | STATUS | REVISION
@ 2023 CommScope, Inc. Confidential WIDTH | 11.7[296.1] C 6 00 RW A 00 RW A 10F 2

4 3 2 ]



COMPONENT PART NUMBERS PROVIDED FOR ASSEMBLY PURPOSES;
INDIVIDUAL COMPONENTS MAY BE SHIPPED AS PARTS WITHIN AN INCLUDED KIT.

DETAIL A
SCALE 1:4

DETAIL B
SCALE 1:2
//// ) \\\\
v .
\\
PREPUNCHED HOLES FOR
GROUNDING LUGS
DETAIL C
SCALE 1:1

ITEM NO. PART NUMBER DESCRIPTION QTY. WEIGHT
1 MTC4161-1000-00 DEEP WALL MOUNT COVERED CABLE TRAY 1 47.24 LBS
2 MTF1586 WALL MOUNT BRACKET (4-RUNS OF COAX) 2 2.59 LBS
3 MTF1591.05 NUT 3/8" GALV. "J" RETAINER 7 0.03 LBS
4 SB-0310 3/8" X 1" SS BOLT 7 0.05LBS
5 SWF-03 3/8" SS FLAT WASHER 7 0.01LBS
6 SWL-03 3/8" SS LOCK WASHER 7 0.01LBS

3

~————23.0[584.2]

O O O O

48.0(1219.2]

@ 2023 CommScope, Inc. Confidential

O O O O

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

DEEP WALL MOUNT COVERED CABLE KITS

SIZE

C

SCALE

1:8

DOCUMENT NO.

RT-CT-1210-08

@ =

DRAWING

VERSION

STATUS

REVISION

00

RW

A

SHEET
20F2

A





